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e 2™olA x 9 gh= stofzt.

(1) ] (2)

> o

> o

> = ()2
8

> = (2)4

B

(1) 5x 13 =4 x (4 + 2x)
65 = 16 + 8x
8x =49
49

D)

(2) 5x 8 = xx (x+6)
x> 4+6x-40=0
(x+10)(x—4)=0
Sox=4(-x>0)

X




4.  o-Z -4 x 9] g F5tofat

[
=

3
> =

. 2cm

B

PA x PB = PC x PD |4
4(4+8) = 6(6 + x)

48 = 36 + 6x

12 = 6x

oo x=2(cm)
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/AED = x & o}, tanx o] gt-& F-5}toie}.
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AE = VAB - BE° — VB1-36 =35
7 A o4 ED o] Wl 549 2 H 2 st
A
E H
EH:§X12><%Z2\/§
AH= \/(3V5)? - (2V3)2 = V33
V33 Vil
tanx = —— = ——
2v3 2
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CE=2v3
EG =22
CG=20]22

sin x + cos x =

2v2 _ 3+ 6
AN I R




e o Yl A, B, C,D7FFFE A
ol Q& ), x o FHS Fatoiet,

/BAC = /BDC = 30° °| 22
Sox=30




ohe oA ¥ A AB,C,D7/F Q9 A .
of & u, x +y o] FHS Fsloiat. 30

o
o

>
> HE: 90°

(BAC = /BDC = x ©|B& x°=180° - (60° 4 75°) = 45°
/DAC = /DBC = 30°°]2& y° = 180°—(45°4+60°+30°) =
45°

. X4y=45+45=90




9.

the 194 A0BC 9] Yol& ot
ofzt.

\VARR 4
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L
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Q

B

AOBC :1><6><6><sin30°

1
_§><6><6><§
=9 (cm?)

(A =75°0]|22 /BOC = 150°7} =t}




10. o ™3 2o] Fo] 4em ¢l Fol Ho|ZE Al AC oA H U

(ABC = 45° & uf, AABC 2] Yo]=?

\
7
.

D 7V2cm? (@)8\/§cm2 ® 9v2cm?
@ 14V2cm? ® 16 V2cm?

B

(DAC = /BAC (- 2 Z), /DAC = /BCA (- SiZholnz
/BAC = /BCA
AABC € °o|eRdZdel,

— 4

AH = 4cm ©]22 AB = BC
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(o= % X (4v2)? x sin 45° = 8 V2(cm?)
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